## **Format for Advertisement in Website**

## Notice for appointment of Regular / Rural Retail Outlet Dealerships

Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Arunachal Pradesh, as per following details

SL NO	Name Of Location	Revenue District	Type of RO (Regular/ Rural)	Estima ted month ly Sales Potent ial (MS+H SD) in KIs	Category (SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/O BC CC 1/OBC PH/OPEN/ OPEN CC 1/OPEN CC 2/OPEN PH)	Type of Site (CC/DC/ CFS)	Minim um Front age of Site (in M)	Minim um Depth of Site (in M)	Minim um Area of site (in Sq. M.)	Estimat ed working capital require ment for operati on of RO (Rs in Lakhs)	Estimate d fund required for develop ment of infrastru cture at RO (Rs in Lakhs)	Mode of selection (Draw of Lots/Bid ding)	Fixe d Fee / Min bid amo unt ( Rs in Lakh s)	Secu rity Depo sit ( Rs in Lakh s)
	Dirang on NH13 on	WEST		450	0.7	050	0.5		4005			Draw of		
1	Charduar Tawang Road Between Naharlagun to	KAMENG	Regular	150	ST	CFS	35	35	1225	0	0	Lots Draw of	0	3
3	Naharlagun town on NH	PAPUMPARE PAPUMPARE	Regular Regular	150	OPEN ST	DC CFS	35 35	35 35	1225	25 0	75 0	Lots  Draw of Lots	15 0	5 3
4	YINGKIONG TOWN FROM CIRCUIT HOUSE UPTO 3 KMS TOWARDS MARIYANG ON LHS OF NH-513	UPPER SIANG	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
5	DAPORIJO TOWN WITHIN JURISDICTION OF URBAN DEPT NOT ON NH	UPPER SUBANSIRI	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
6	RAGA FROM THE INTERSECTION POINT OF THE ROAD TO CIRCUIT HOUSE AND NH-13 UPTO 2 KMS TOWARDS DAPORIJO ON NH-13 PANGING FROM THE INTERSECTION POINT OF ROAD TO DC, OFFICE AND NH-	KAMLE	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
7	13 UPTO 2 KMS TOWARDS PASIGHAT ON NH-13	SIANG	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
8	ZIRO FROM THE ENTRANCE ROAD OF ZIRO ADVANCE LANDING GROUND (ALG) UPTO 2 KMS TOWARDS HAPOLI ON NH-13	LOWER SUBANSIRI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
9	AALO TOWN ON NH- 13 FROM SIPU BRIDGE UPTO 3 KMS TOWARDS HOTEL MIN-TA	WEST SIANG	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
10	HAPOLI TOWN WITHIN THE JURISDICTION OF URBAN DEPT NOT ON NH-13	LOWER SUBANSIRI	Regular	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	3

	PASIGHAT TOWN FROM FISH MARKET TINIALI TO DR. D. ERING STATUE											Draw of		
11	POINT PASIGHAT FROM DR.	EAST SIANG	Regular	100	ST	CFS	30	30	900	0	0	Lots	0	3
12	D. ERING STATUE POINT TO MIRMIR CHARIALI	EAST SIANG	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
13	FROM BAGHE TINIALI TO DOIMUKH TINIALI ON NIRJULI-GUMTO ROAD	PAPUMPARE	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
14	FROM DOIMUKH TINIALI NEAR THE OFFICE OF THE ASST. ENGINEER (E) TO KHULA CAMP TINIALI ON DOIMUKH TINIALI-KHULA CAMP MAIN ROAD	PAPUMPARE	Regular	110	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
	YUPIA FROM KM STONE NO. 3 TO KM STONE NO. 7 ON NH-		-									Draw of		
15	713A FROM THE	PAPUMPARE	Regular	150	ST	CFS	35	35	1225	0	0	Lots	0	3
16	ENTRANCE ROAD OF JN COLLEGE, PASIGHAT TO THE INTERSECTION POINT OF NH-515 AND NH-13 ON NH- 515	EAST SIANG	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
10	DUMPORIJO FROM THE DUMPORIJO	2701017110	rtogulai	100	01	010	- 00	- 00	1220			2010	Ů	Ů
17	GENERAL GROUND NEAR THE ROAD TO DUMPORIJO POLICE STATION UPTO 2 KMS TOWARDS DAPORIJO ON NH-13	UPPER SUBANSIRI	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
18	LIKHABALI TOWN FROM LIKHABALI POLICE PATROL POST TO LIKHABALI CHECK GATE ON AKAJAN-LIKHABALI BASAR ROAD	LOWER SIANG	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	RUKSIN FROM RUKSIN CHECK GATE UPTO 3 KM TOWARDS PASSIGHAT ON											Draw of		
19	NH515	EAST SIANG	Regular	110	ST	CFS	30	30	900	0	0	Lots	0	3
20	AALO FROM SIPU BRIDGE UPTO 2 KMS TOWARDS KAMBA ON AALO-MECHUKA ROAD	WEST SIANG	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	OYAN FROM INTERSECTION POINT OF NH-515 UPTO 1 KM TOWARDS OYAN CAMP OR UPTO 1 KM TOWARDS ORIYAM											Draw of		
21	GHAT TATO AREA ALONG	EAST SIANG	Rural	52	OPEN	DC	25	25	625	12	30	Lots	5	4
22	AALO-MECHUKA ROAD	WEST SIANG	Rural	46	OPEN	DC	25	25	625	12	30	Draw of Lots	5	4
	HAWA CAMP ON											Draw of		
23	KIMIN-POTIN ROAD	PAPUMPARE	Rural	52	ST	CFS	25	25	625	0	0	Lots	0	2
24	GEKU HQ VILLAGE ON AALO-YINGKIONG ROAD	UPPER SIANG	Rural	52	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
25	BILAT HQ AREA ON BILAT-MIREM- PASIGHAT ROAD	EAST SIANG	Rural	52	ST	CFS	25	25	625	0	0	Draw of Lots	0	2

1	1		1									<b>i</b> 1		
	MIREM AREA ON BILAT-MIREM-											Draw of		
26	PASIGHAT ROAD	EAST SIANG	Rural	52	ST	CFS	25	25	625	0	0	Lots	0	2
27	TALIHA H.Q. AREA ON TALIHA-DAPORIJO ROAD	UPPER SUBANSIRI	Rural	52	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	YACHULI H.Q. AREA ON NH-229 (OLD)/NH-	LOWER										Draw of		
28	13 (NEW)	SUBANSIRI	Regular	156	ST	CFS	35	35	1225	0	0	Lots	0	3
29	BASAR TOWN AREA ON BAME-LIKHABALI ROAD	LEPA-RADA	Regular	108	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	AALO TOWN AREA WITHIN JURISDICTION OF URBAN DEPT.(MUNICIPAL											Draw of		
30	LIMIT) NOT ON NH	WEST SIANG	Regular	168	ST	CFS	30	30	900	0	0	Lots	0	3
31	DAPORIJO FROM SIGIN RIVER BRIDGE UPTO 2 KMS TOWARDS HAPOLI ON NH13	UPPER SUBANSIRI	Regular	156	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
			ga			5. 5				-	-		-	
32	UBI Banderdewa to Banderdewa Tiniali	PAPUMPARE	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
												Draw of		
33	Mukto NH415 by pass Jully	TAWANG	Rural	50	ST	CFS	25	25	625	0	0	Lots	0	2
34	Basti Road upto district jail Papumpare	PAPUMPARE	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
35	On Nirjuli Domukh Road	PAPUMPARE	Regular	110	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
	NEAR RANI VILLAGE FROM KM 93 to KM 97											Draw of		
36	on NH515  KIMIN TOWN FROM KIMIN SDO OFFICE UPTO 2 KMS	EAST SIANG	Regular	156	OPEN	DC	35	35	1225	25	75	Lots	15	5
37	TOWARDS KIMIN CHECK GATE	PAPUMPARE	Regular	108	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
<u> </u>	2.120.07.112	. 70 000 700	. togulai	.50	<u> </u>	5. 5	- 50	30	- 550		Ŭ	2515		Ť
38	Kalaktang (NOT ON NH)	WEST KAMENG	Rural	50	ST	CFS	25	25	625	0	0	Draw of Lots	0	2
	Itanagar Town on NH 415 (within municipal				_							Draw of		
39	PALIN ON NH-713	PAPUMPARE	Regular	150	ST	CFS	35	35	1225	0	0	Lots	0	3
40	FROM THE SBI BRANCH AT PALIN UPTO 1 KM ON EITHER DIRECTION OF THE HIGHWAY	KRA DAADI	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
40	KOLORIANG ON NH- 713 FROM THE OFFICE OF THE DEPUTY COMMISSIONER		Keguiar	100	31	UFS	35	35	1225	U	U		U	<u> </u>
41	UPTO 2 KMS TOWARDS YACHULI	KURUNGKUM EY	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
42	ON NH-13 IN PAYA BETWEEN KM STONE 681 TO 686	LOHIT	Regular	150	ST	CFS	25	25	625	0	0	Draw of Lots	0	3

]		l	1					1			l	<b>I</b> 1		
												Draw of		
43	DEMWE ON NH-13  TEZU TOWN (WITHIN THE MUNICIPAL	LOHIT	Regular	150	ST	CFS	45	45	2025	0	0	Lots	0	3
44	LIMIT) ON THE ROAD FROM WAKRO TO TEZU	LOHIT	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
45	ALUBARI ON NH	LOHIT	Regular	156	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
46	CHANGLANG TOWN (NOT ON NH)	CHANGLANG	Regular	100	OPEN	DC	25	25	625	25	45	Draw of Lots	15	5
47	KHARSANG DAILY MARKET TOWARDS MIAO WITHIN 3 KM ON JAGUN-MIAO ROAD	CHANGLANG	Rural	48	OPEN	DC	25	25	625	12	30	Draw of Lots	5	4
	GIDDING (BORDUMSA) ON NH-											Draw of		
48	215 NAMPONG TOWN ON	CHANGLANG	Regular	150	OPEN	DC	45	45	2025	25	75	Lots Draw of	15	5
49	NH-315 DAMBUK TOWN	CHANGLANG LOWER	Regular	150	OPEN	DC	35	35	1225	25	75	Lots	15	5
50	WITHIN 3 KMS (NOT ON NH) ROING TOWN	DIBANG VALLEY	Regular	100	OPEN	DC	25	25	625	25	45	Draw of Lots	15	5
51	(WITHIN MUNICIPAL LIMIT) ON THE ROAD FROM REVIER DEOPANI TO ROING TOWN POST OFFICE	LOWER DIBANG VALLEY	Regular	100	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
- 51	DAMBUK ON NH13	VALLET	Regulai	100	- 31	CIS	25	23	023	0	0	Lois	0	3
52	BETWEEN ADC OFFICE, DAMBUK AND BRIDE OVER RIVER SINEKORONG	LOWER DIBANG VALLEY	Regular	150	ST	CFS	45	45	2025	0	0	Draw of Lots	0	3
		LOWER DIBANG										Draw of		
53	MAYUDIA TOWN	VALLEY	Regular	100	ST	CFS	25	25	625	0	0	Lots	0	3
54	KANUBARI ON NH (TRANS ARUNACHAL HIGHWAY)	LONGDING	Regular	156	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
55	TISSA ON TRANS ARUNACHAL HIGHWAY FROM CRPF CAMP TO KHOTING	LONGDING	Regular	150	ST	CFS	45	45	2025	0	0	Draw of Lots	0	3
_ 55	KHONSA TOWN ON KHONSA - CHANGLANG ROAD (TRANS ARUNACHAL	LONGDING	Regulai	130	31	UF3	45	45	2023	U	U	Draw of	0	3
56	ROAD) BORDURIA TO	TIRAP	Regular	150	ST	CFS	25	25	625	0	0	Lots	0	3
57	KHONSA ON TRANS ARUNACHAL HIGHWAY	TIRAP	Regular	150	OPEN	DC	45	45	2025	25	75	Draw of Lots	15	5
	WIGNES TOWN NOT													
58	KHONSA TOWN NOT ON NH	TIRAP	Regular	100	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
59	HUNLI ON NH-313	DIBANG VALLEY	Regular	150	ST	CFS	45	45	2025	0	0	Draw of Lots	0	3
60	ANINI TOWN	DIBANG VALLEY	Regular	100	OPEN	DC	25	25	625	25	45	Draw of Lots	15	5
- 00	NAMSAI TOWN (WITHIN 2 KM) TOWARDS DIYUN ROAD (BUT NOT ON	VALLE	rregulal	100	OFLIN	DC	23	20	023	<u> </u>	40	Draw of	13	J
61	NH)	NAMSAI	Regular	100	OPEN	DC	30	30	900	25	45	Lots	15	5
62	BETWEEN NAMSAI AND MANMOW (POWERGRID STATION) ON NH-15	NAMSAI	Regular	150	ST	CFS	45	45	2025	0	0	Draw of Lots	0	3
	,	LOWER										Draw of		
63	PAGLAM	DIBANG	Rural	48	OPEN	DC	25	25	625	12	30	Lots	5	4

		VALLEY													I
64	HUNLI (NOT ON NH/SH)	DIBANG VALLEY	Rural	48	ST	CFS	25	25	625	0	0	Draw of Lots	0	2	l

- # Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.
- \* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (www.bharatpetroleum.in/www.hindustanpetroleum.com/www.iocl.com/www.petrolpumpdealerchayan.in) and can be downloaded free of cost.